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 ω ≥ ω
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 ω < ω < ω
 ω ≥ ω

��������1��
�)������2������������
�����������
���:+���������������������
�)��*

����
	2������(?��>�����+��:���
*������������	�,��
�PQ��
��)������(D�
>������,����2*��������+
��*

�����2��������������������,����+
���*�+�����2



(( �!"�#���$%&��!'��$% �()*( �+�,�-(.,/

�����������	
������
�	��

����ω_*�N�����44������>��4�>���������	��1������;
������4�<�	
���P�ωH*�N�����44������>��4�>����;
�����	��1�������7���4�<�	
���P�ω_(�N����2�44����;
��>��4� >������� ��	��1� �����������4� <�	
���P
ωH*�N����2�44� �����>��4�>���������	��1�������;
7���4�<�	
��� 

!�	������������
����>���4���	��1�������7���4
���������������;>���������� 7���	�� �����	
���
������16���	�>���1�����1����1��������	
�������;
�������������6�������������8���������4���������
8�7	�>��7���>�����1� -�
��� �)/6� ��� �� ��>7�� �����4
<�	
�����������	��������
F������>�������	��1
������7���4����9������4���∆mRl`���������������;
�������
�7�7���	����������7���4�H]�

min min max ,B HF F F∆ = −

�������7�����������>�����1�������12���	
7����
��� ���	�>�:��46� �� �����	
F��� ���>����� ��	��1
������7���4�∆mRST� N�7�7���	���6� �7	:>�:?�:��
���4���	����������7���4���������������>�1����;
��2���1����	��1�H]�

max max min .B HF F F∆ = −

�����44���������>��7�4�>���������	��������<�	
�;
���ω)����������������4�7�7���>�	
��4�>�������m�%|
������12���	
7����6���������	
���7������������4;
:��4����>���4���	��1�������7���4��������������;
��;>����������7���	�������	
����������1 

"	4������7����8���%|'����	
�����H]�����;
������1	������	
�����1���	����1�M����������
��|��1F����7�7����:?��������	��������1�����;
	���>��7�������������� �H�������1����	
�����H]
�1	��������	��1��������������������7��>�������;
������1�<�	
���������2�>������-]�|/ 

H�������	
����������	������M�����������<��;
78�4������7����8���%|'�]�|�����1�����4��1;
������4���IKJ

2

2 2

1
( ) ;

1 �

n
H jΩ =

+ ε Ω
-*/

2 2( ) 10lg(1 ),�

nA Ω = + ε Ω -(/

���� Qq-rΩ/Q(� N� 7������� %|'� ���	
����� <�	
���P
max0,110 1Aε = − �N�7�9<<�8�����������������������	��;

	���4�����	����������7���4�<�	
���P�kRST�N���7;
����	
��������>�����	��	���������	����������7�;
��4P�ΩH�O�ω� U�ωH�N�������������4�>������P�ωH�N
�����>��4�>���������	��1�������7���4�<�	
���P
k-Ω/�N�����>�����	��	�����<�	
���6��MP���N����4;
��7�<�	
��� 

H�������	
����������	������|��1F�����;��
���4�7��<��78�4������7����8���%|'�]�|����;
�1�����4��1������4���IKJ

2

2 2

1
( ) ;

1 ( )�n

H j
T

Ω =
+ ε Ω

-,/

2 2( ) 10 lg[1 ( )],
�nA TΩ = + ε Ω -L/

���

cos ( arccos ) 1;
( )

( ) 1,

� ���

�� 	
�� ���
n

n
T

n

 Ω Ω ≤Ω = 
Ω Ω >

N���	�����|��1F�����;������4�7� 
$��������>������12�2���7�������76�����1���;

�12�<����	����-*/���-,/6�������	4���4����4�7���
<�	
������6��1>��	4��1������<����	��

min0,1

2

3

10 1
lg

;
2 lg��


A

n

 −
 ε ≥

Ω
-K/

min0,1

2

3

10 1

,���

	
��

	
��

A

n

−
ε≥

Ω
-3/

���������N����4��7�<�	
����M����������P��>���N����4;
��7�<�	
����|��1F���P�kRl`�N�������	
��������;
>�����	��	���������	���������������4P�Ω_�O�ω�U�ω_�N
������������4�>������P�ω_� N� �����>��4�>������
��	��1������������4 

]����	1�-*/���-(/��	4�2���7�������7���	�����;
�	
�����]�|�M�������������<����	1�-,/���-L/��	4
>������12�2���7�������7�]�|�|��1F�����������;
	��1����	4������������:?�2���	������	
�12�H]
����������>�1���2���7�������7������	��	���46
��	����������
����������������>�����1����������;
�1�������	�������������������������7���������;
���

0
0

0

,��

���

��

 ωω
ω = ω − ω ω 

��������7�1�]�|���H]������������:��<�	
���
�����2�>����������	��������<�	
��� 

�������1���������	4���������������>�����1
H]�����������

0 0

2 1 0

,
� �

 ω ωωΩ = − ω − ω ω ω 

���� 0 1 2 1 2� � � �
ω = ω ⋅ω = ω ⋅ω �N������44���������>��;

7�4�>�������H]P�y_(���y_*�N�������������������2;
�44�������44������>�1��>�����1���	��1��������;
����4�H]P�ωH(���ωH*�N� ������������������2�44��
����44� �����>�1��>�����1���	��1�������7���4
H]P�ω� N� 7������4�>������6������4?�4�4�7�F7�	�
>������H] 

H��4�7����	������	
�12�H]�M������������
|��1F�����1>��	4:��4����<����	��� -K/��� -3/6� �
7����12�������������4�>�������Ω_�H]��1>��	4;
���4����<����	��IKJ�

2 1

2 1

� �

�

� �

ω − ω
Ω = ⋅

ω − ω

H��4��7� <�	
������ 4�	4���4� 7�	�>���������
�8��7��������8�������������2�����>�������	��1
������7���4����������������;>����������7���	�
�����	
���� ������1�7��7�����������1���������
����1���������������� 

n���	
���1�����	�������4������������1�97�;
���������	
�1�������1��6���	�>���1���������;
�	���������*K�����������	
������>���12����1��;
��12���������������*D����(,�	����������	
�1���	�
�7����7��������1���������6�7����1���1��	��	�
��������� *,�������������	��1�������7���4����;



(,�!"�#���$%&��!'��$% �()*( �+�,�-(.,/

�����������	
������
�	��

������������;>����������7���	�������	
���������;
�1�-HHH|$/������>�	
�12�>������2�K6�*)6�*K�=8 
H���1��,�����	
�����7��������������������������
����7������8�4��� I3J�������	�������������7����;
7	:>�	��
 

��������4��1��	�4	��
�����7�	4����������;
?����6����������������� ����������������������;
��4������H�(,;)K;5K�I.J6������������	��������4��
5����*(�> ���	�>���	����	���	�������������	����
8���������������K��������	���������,��7�6������;
?���1������������	��������>7��4������������4 
]������������ ����G4�	4��12� >������ ������12
��	
7����6��2�����������������������HHH|$��1;
��	�4	��
�������	
���������Hr0���Za`clbR�ppp� 

����������97����������	
�12�����12��	4�7��;
��������1����������������1�%|'�<�	
����6���;
��	���:?�2�HHH|$6����1>��	��1����4�7��<�	
;
�����M�������������|��1F��� 

"	4� ������7�� ����	�����4� ��	������	
�12
7���12�7�7���>��;	��������2���7�������7������>�;
��7��������%|'����*����)��1	������>����1��8��7�
��>������δ(� ��7���>����>��	����>�7�m*6���m�� 7�7
������
F�������1�7�����������7	����������<��;
��	��IDJ�

( ) ( )2 2

1

,� ��

k

i i
i

H F H F
=

δ = −  ∑
����qA-m�/� N� ���>����������7������:?���%|'��
��>7��m�P�q$v-m�/�N����>�����7���>��;	��������%|'
����>7��m� 

0������������������7������8�4���I5J��	4�����;
����4��8���7���>�����������7����8�����	������
M���������������	�������|��1F����������������;
�1����12��1	���1>��	��1����>���4���������8���7
��>������δ(��	4�����2������7������:?�2�<��78�� 
n���	
���1��1>��	��������������������1������;
���1�����
���, 

��������3����
��
��,
������+��������������	�,��

������	�	��R���
���������P

2O
��?�������
�
�,����#���+��)�2
�+�����2%�I,D����������������#

���+
����	
������,
������+��������������	�,��
������	�	��R���
���������P

2O
������������
	

����
���� �"����
���
���$ �"��������
*%
	���	��)�������	����	��)��������+
��*

%��	��� ����	
������ ���>���� �8���7� ��>�����
�����7����8����>���7��������%|'�<�	
������7�;
��	6� >��������7����8�4����	������4� ��>���� ����;
��	
�����������	������M���������� 

��7����������6�������	������������	����	�;
�1�������7���4����������������;>������12�7���;
	��� �����	
����������1�7�7���	��������<�	
���
���4��7�<�	
����4�	4���4�7�	�>�����������8��7��
�����8�������������2�����>�������	��1�������;
7���4� 7��7�������� ���1�������� �� 7��7����1�
�������������� �H������	
������97����������	
;
�12����	�����������>����
������7����8���	����;
������>���7�� ���������	������;>���������2���7;
�������7��<�	
������������	
����������	�����
M������������1F�6�>�����������	
����������	�;
�����|��1F��� 

/0
�12�*
'3�('4�56

* [*3U3��B�i��_���������1F	���� ���� �(;�6����� ��
��� �N��H� �����7�6�*55, �(DL�� 

( v3*30
8�A�P�@�;1*3�8
21=(�>�E�@�>3=21=
S�A�D�
0���7�������������4�������������������������;
�12���������>�12�<��78��������	
����������1 
N�v �����7�6�*5DK �*),�� 

, e1h38-1=�B�B��������������	��1�������7���4����;
������������;>������12�7���	��������	
���������;
�1�UU�����8���7�4���2��7� �())5 �+�,�-(KK/ �� �,,;,K 

L e1h38-1=�B�B�����������������4���	��1�������7�;
��4����������������;>������12�7���	��������	
���
������1� UU�����8���7�4���2��7� �()** �+�*� -(KK/ 
� �(.;(5 

K ����������4������4�<�	
��������2�����7������;
��� �H�� ������	 �U�H������ �= �����F�6�� ������ 
N�� �����6�*5.. �K3)�� 

3 f3V�(T1=�E�:�@�;(<
8�9�f�@�Y(�(81=�[�[�� 
� C��
�����1�������������4�������������	4����	�����;
��4� ���������	
��;���2�	���>��7�2� ���	�>��
>�	���7��U�H������ �0 � �u������ �N�$����
�����;
���$�����7 ���;��6�*5.3 �(,D�� 

. ���H�(,;)K;5K�!����������������7�������������;
��?���� ��������	
�1������1��������	��n�����;
�7���]�����8�� 

D Y3*3-2
V�9�d��
����1��������	�����12�9	�7���;
>��7�2�8���� �N�� ����4�
6�*53. �3)D�� 

5 f*('181=�9�P����������>��7������	���������8���
�����	����������>�6��������	���46�	���7�6�7���
;
:����1�������1 �N�� �����;���n%��6�())) �K(�� 

B(*3�
V�B
'(*Q3=
S�e1h38-1=@
C+��'3T8��8(42@�0�1O3��1�@

�('QN8(�9*32�(8C�1=8(�>3h8
8(@
2(8C��'3T8��8(42@�C1-38'@

2(O3C�(�0�132'
�1=(8
N�
�0�1
U=1C�'=(
w*32'�1881+=5S
�*
'3*Q85T���3C�'=@

:(�
V�2
V� R1�4C(��'=3885V
'3T8
S3�2
V�48
=3��
'3'@

R��x1<2(�+c*(@
$+^M�H6�aJI�_$�#%I�`^M�H�	G


